MATH 109  Practice Exam 2   [with answers]
Write your solutions on separate sheets of paper.  Be sure to label each problem.  

Show your work.  Correct conclusions without sufficient work will NOT receive credit.  Calculators are permitted but do not use any graphing capabilities of your calculator. 

If you have a question or want clarification during the exam, please do not hesitate to ask.  

1.          Let  y = x2-5.  


(a)  Graph the equation.             [plot points – I will do this in class Tuesday.]
            (b)  What is the y-intercept?       y = -5

(c)  What are the x-intercepts?   x = 
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2.    Find the equation of the line through the points  (1, – 2)  and  (3, 4).  Graph the line.
                   y = 3x -5        Draw a straight line through the two points.

3.    (a) What is the equation of the horizontal line that passes through the point  (6, – 2). 

                                                  y = -2

       (b) What is the equation of the line with slope 3 and y-intercept 8.
                                             y = 3x + 8 

       (c) What is the slope of a line perpendicular to y = 7x + 2? 

                                             m = -1/7

4.   Solve each inequality and graph each solution set on a number line.  


(a)  2x + 6 
[image: image2.wmf]£

 3           x ( -3/2       [I will graph these in class Tuesday.]

(b)  (x-3)(x+1) ( 0      x  ( 3    or    x ( -1

(c)  |3x-1 | < 8             -7/2 < x < 3
5.  Suppose  
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            (a)   Find f (4)            3
            (b)   Find f (a+3)     
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            (c)   Find the domain of  f (x)     x ( -1/2
6.   What is the vertical line test?  Give an example of how it is used.   
      The vertical line test is a way to determine if a graph is the graph of a function.  If any

      vertical line hits the graph in two or more points, then the graph is not a graph of a 

      function.  Otherwise it is.  [An example will be given in class.]

7.  Biologists have found that crickets’ chirps per minute c vary with temperature t as follows:
       t = .2c + 45      [temperatures are all Fahrenheit]
      (a)  If you counted 30 chirps per minute, about what temperature is it?    51
      (b)  If it were 80 degrees, how many chirps per minute would you expect to hear?   175
8.  Use algebra to find the intersection points of the following two graphs.
          y=3x+5       y= -2x+9         (4/5,37/5)

                                         x2       x(2
9. Graph   g(x) =  
[image: image5.wmf]                                      [I will do this in class.]
                                          4        x>2
Complete the rest of the exam before working on the following.
*10. Solve the inequality    |x + 4|  – |x + 1| ( |x – 2|   and graph the solution set on a number line.  

                         x ( -1   or    x ( 5
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